



5つの分数、角かっこ付きの演算の順序

名前: _____

日にち: _____ スコア: _____

$$(3 + \frac{2}{3})^2 + \frac{1}{3} \times \frac{1}{5} + 2^2 =$$

$$(\frac{1}{2} + (\frac{3}{2})^2) \times \frac{3}{5} + (\frac{2}{5} + \frac{1}{4})^2 =$$

$$(\frac{1}{2} + \frac{1}{3})^2 - \frac{1}{2}(\frac{1}{3} - (\frac{3}{4})^2) =$$

$$((\frac{1}{2})^2 + \frac{1}{3}) \times \frac{1}{4} - (\frac{1}{2} - \frac{1}{2})^2 =$$

$$(\frac{1}{2} - \frac{3}{2})^2 - \frac{1}{2}(\frac{3}{5} - \frac{1}{2}) =$$

$$(\frac{3}{5} + \frac{1}{3})^2 + \frac{1}{3}(\frac{1}{2} + \frac{1}{6}) =$$

$$(4 - \frac{2}{5})^2 + \frac{1}{4} - \frac{1}{5} - 4^2 =$$

$$(\frac{2}{5} - (\frac{1}{6})^2) \times \frac{2}{3} - (\frac{1}{6} + \frac{1}{2})^2 =$$

$$(\frac{1}{2} + \frac{3}{4})^2 + \frac{1}{3}(\frac{3}{4} - \frac{1}{4}) =$$

$$(\frac{3}{5} - \frac{1}{5})^2 + \frac{1}{4}(\frac{1}{6} + \frac{1}{2}) =$$